768567 - AG 125-14 D




114

ﬂ_ e 108 prmy S5 M t 1

110)
103—1 111 |
101 109 | 112
%113
117
108
13
132
(101) |
- L
-
T
-t 133
(101)
T
(101)

139

137
‘ 138
Pos|Yact No. OnucaHue Konuyecrtso
1 769018 |3ararawa ravika 1
4 400468 BUHT cbc chepuyHo-uManHapuyHa rnaea 3,5 x 14 mm |3
5 614482 [Cauma 3
6 [632008 |YnabTHUTENeH NpbCTEH 1
7 10014551 |BpeTteHo 1
8 625565 |BuHT M4 x 16 4
9 779980 |Kanak Ha narep 1
10 [624978 |loAnoxeH ANCK 3
11 |615245 |O-npbCcTeH 1
12 |623979 |OuCTaHUMOHEH NMpPbCTEH 1
14 |500890 |Kanak Ha narep 1
15 |769411 3a4BUXBaALL MEXAHU3BM, LUSSIOCTEH 1
16 |615247 EanHOCTpaHeH 3akpuTt urneH narep 6e3 BbTpeluHa rpusHa |1
17 (625549 |BuHT 4 x 30 mm 4
18 |768534 |Kopnyc Ha peayKTop 1
19 (769391 |Bnokupaw, Ban 1
20 |625264 |lavika 1




21 |593960 |YnnbTHeHWne 1
22 (623814 |(Jlarep 1
23 1628208 [NarepHa BTYyfKa 1
24 |634503 |[AucTaHUMOHEeH NpbCTeH 1
25 |633983 [MoanoxeH anck 1
26 (625263 |[OcuryputeneH npbcreH 1
27 769402 |Kopnyc Ha peayKTop 1
28 |769801 |[KotBa 1
29 (400680 [PagmanHu cchepuyHU narepu 1
31 |623987 |YnabTHUTENEH NpbCTEH HA Bb3AYXOBOA 1
32 (219069 [BUMHT cbC chepuuHO-unamMHapuyHa rnasa 3,0 x 12 mm |2
33 |618903 [MonesBun nakeT 1
34 |768353 |[Kopnyc Ha moTopa 1
35 (627036 [FpagwuTHa veTka (pair) 1
36 |219031 [BuHT cbC chepuyHO-UMAMHAPUYHA rnaea 3,5 x 10 mm |2
37 1626025 |Obpxxay 3a 4eTkn 2
39 |769338 |Perynupalla enekTpoHuka 1
40 |768363 |Kodyx 1
41 |707454 |MNpekbcBad 1
42 625274 |BuHT 1
43 |228663 |BUWHT cbc chepuUHO-UMAMHAPUYHA riaBa 3,5 x 16 mm |1
44 769370 |3artaraHe 1
45 632489 |kanak 1
46 (623984 |CbeguHUTENEH NMpbT 1
47 (623985 |floct 1
48 |768473 |NocTt 1
49 |450353 |KabenHa HacTaBka 1
50 (10014479 |Mpexosn kaben 1
51 |769620 |lMomouHa pbKoxBaTKa 1
52 (767469 |llekep Ha aganTtep 1
101 |{625697 BUHT 4 X 16 mm 7
102 649388 |HanpasnsiBalua 1
103|614334 |BuHT M3 x 10 1
104 1614474 MoanoxeH anck 1
105|763868 |OnbBaTenHa NpyXuHa 1
106768579 |Mokputmne 1
107 |768565 |PbkoxBaTKa 1
108|761330 |lMpuTuckaTesnHa NpyxuHa 1
109 (649390 |BnokunpoBka 1
110{222490 |lWanba 2
111779183 |UnmnmHapuyHm 6ontose 1
113|768843 |MeyaTHO YyCTPOMCTBO 1
114768482 |Mpo3opey, 1
115|779065 |MNoanoxeH anck 1
116 |768563 |MeuyaTHO yCTPOWCTBO 1
117617843 |lpyxuHa 1
118 (768226 |Kpwun4yat BUHT 1
119654035 |lMpuTuckatenHa npy>xuHa 1
120|615331 |MNoanoXxeH AnckK 1
121763911 |laiika 1
122769797 LllerHa, usna 1
123443971 Perynunpaw enemMeHT 2
124442597 |WWundT Ha pe3sba M6 x 12 2
125|219102 |BuHT cbe ckpeTa rnasa 4,0 x 10 mm 4
126614793 |OcuryputeneH npbCTeH 1
1271779187 |Nokputne 1
128|763909 |YeTupukaHTOB AUCK 1
129|228643 |UnnnHapuyeH BUHT M5 x 16 1
130|767505 |LWecTorpam 1
131634640 |BuHT 1
132614778 |BuHT 4,0 x 16 mm 1




133649370 |AcnupauMoHeH KOHeKTop 1
134|779188 |Koneno 6
135|615477 |OcuryputeneH npbCcTeH 8
136779185 |Ban 1
137|779184 |Ban 1
138|769797 |lWewHa, usna 1
139|769040 |Kntoy 3a 60NT C BbTPELLEH LWECTOCTeH (LecTorpaH) 1




